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QUESTION 1
Which statement is true about policy expressions?
A. A named policy expression is stored in the Data Masking format library.

B. A named policy expression applied to a column in a redacted table overrides the default expression of its redaction
policy.

C. A redacted table can have only one policy expression defined on it.
D. A policy expression can be applied to columns in different redacted tables.
E. A named policy expression is stored in the Enterprise Manager Database Express repository.

Correct Answer: C

QUESTION 2
Which two statements are true about application containers? (Choose two.)

A. A regular PDB can be plugged in to an application container provided it is an Oracle Database 12c Release 2 (12.2)
PDB.

B. An application root can be unplugged from a CDB and plugged in to another CDB.

C. An application PDB can belong to multiple application containers.

D. User-created common objects are accessible from the CDB root.

E. The application root stores user-created common objects and Oracle-supplied common objects.
F. Multiple application roots can be created in one container database.

Correct Answer: DE

Reference: https://blogs.oracle.com/oraclemagazine/multitenant-database-management

QUESTION 3

USERL1 is an OS user with the password oracle and is only a member of the oinstall group. In the ORCL database, the
OS_AUTHEN_PREFIX value is ops$.

Examine these commands executed by the DBA:
SQL> CREATE USER ops$userl IDENTIFIED externally;
SQL> GRANT create session TO ops$userl;

How can USER1 be given the SYSRAC privilege?
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A. Make Userl a member of the OSDBA group in Linux or the ORA_%HOMENAME%_SYSDBA group in Windows
only.

B. Grant SYSRAC to userl.
C. Grant SYSRAC to ops$userl.

D. Make USER1 a member of the OSRACDBA group in Linux or the ORA_%HOMENAME%_SYSRAC group in
Windows.

E. Grant SYSDBA to ops$userl

Correct Answer: C

QUESTION 4

Examine this command:

5 expdp scott/password schemas=SCOTT directory=TEST DIR parallel=4
dumpfile=sSCOTT %

U.dmp logfile=expdpSCOTT.log
Which statement is true?
A. Up to four worker processes are allocated to export data and metadata
B. Four worker processes are allocated to export only data
C. Four worker processes are active to export only metadata
D. Four worker processes are allocated to export data and metadata
E. Four worker processes are allocated when there is sufficient CPU available
Correct Answer: D

Reference: https://oracle-base.com/articles/10g/oracle-data-pump-10g

QUESTION 5

You create a refreshable copy PDB, PDB_COPY, from the PDB_ORG PDB by using the REFRESH
MODE EVERY 5 MINUTES clause.

What happens every five minutes?

A. An automatic refresh is done provided PDB_COPY is closed; otherwise the refresh is differed and attempted again
after five minutes.

B. PDB_COPY is automatically closed provided there is no ongoing transaction in PDB_ORG and then reopened as
read-only after the refresh is complete.
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C. PDB_COPY\\'S state is automatically changed to read-write and back to read-only after the refresh is complete.

D. PDB_COPY\\'S state is automatically changed to read-only and then reopened as read-write after the refresh is
complete.

E. An automatic refresh is done provided PDB_COPY is in read-only mode; otherwise the refresh is deferred and
attempted again after five minutes.

Correct Answer: E
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